Aoknon 1
(Amarorpn MapevOicemv pe + 1 Timoto pTPoota 06 Ty Topivleon)

a) +(-3)= 8) (-2+4)+(-3)=
B) +H(+2)= €) +(4-3-8)=
V) H(+4) +(-2+3)= 0) (-3+5-2)+(+3-7)=
Aoknon 2
(Amarorpn MapevOicemy ne - nTPootTd 0mwd TNV TAPEVOEST)
a) -(-3)= 8) -(-2+4)-(-3)=
B) -(+2)= £) “(4:3-8)=
V) -(+4) -(-2+3)= 0) -(-3+5-2)~(+3-7)=
Aoknon 3
(Amarorpn MapevOicemv)
a) -(-8)+(+4)= 0) -(-3+5-2)-(+3-7)=
B) +(-15)-(-3)= ot1) +2+(-3+15+2)-(-4+7)=
y) -(+4) -(-2+3)= ) 4-(20-5-2)+(-1)=
6) (+20)-(-5)+(-4)= ) +% — (+2 — g) =
8) -(+20)+(-20)+4: e) (_ (_%_l_ 1) _ (_2 + 4) —

"~ “BakoupéAn

MaBnuarikd ‘A

>



